STARE POLASZKI

droga powiatowa

koniec mostu

poczatek mostu

droga powiatowa

o | <C s =4
e Slme N
e~ w w 3| 8 S g -
0| O — =lns M
HEIPRNERAE, =
m.M c v |~ >
S|=Z| = <t |3
3|0 S8 -N
| (b IZ | )
T < > - S
=2 |8 |3
= =z =
o< (£l O 3
Sl=|0- - |3 o
x| — N |8 O <
== E=N = =
59| A |2 _
E|IX| O = 2
=2 ZE | =
3 INEIEN = | =
SISI= |z - 2|8
o M m = |5 R N |
=D 28| X| o |z
TIZ 0 M ..vm 1=
sl ] N
=) s| O £
b fam) 7 o | w
B g O-| 2|5
o =
#5761 0594 9845
o
01
= ~
a g
9%78¢l / £EGE 99'77
T A7) s
/ -
- X

67 8€l \ 17961 9778

L8] \ AT £€09

15'8El € 9El 1€

898El \ 058¢1 ¥

||||||||||||||||||| [0978€)
o
m E
E<
|||||||||||||||||| IS8T\ 5 755 0958
||||||||||||||||||| EB £18EL 0%e

£78¢€l 9€ B¢l 6'ES

078l IEGEl 020y

9€'8El 97 B¢} 0ZE

o

0!

R

a

e S \ (W5 00
|||||||||||||||||| 118€E) ©
g £
£<

96726l Mn_m 8876 1788

187e m 9 7El 1728

||||||||||||||||| ELEE)

=
|||||||||||||||| 9T LEl 7€ 16l €19

E
£z

8lLEl| o &)[/0%e KL
- L L0'¢EL

396 | 2\ A

oS (069 £0°0z

88°9¢] £89€) 9

E
o
18'9€] £ 9€] 98'¢6

£1°9€] 89°9¢) 9'¢t

1E79¢] 19'9¢€} G466

s S | (7998 0797

£9°9¢] N 6596l 69°7¢

££'9€1

1£79¢] 99°9¢] 00E] 2

m £
<

[L96]\§ &[98 008

LE'9EL| =

66961 N |

||||||||||||||| 899E] 19 9EL 0065
| E
,, T E ._: 7 T
|||||||||||||| EXEREE LTS
- 996w &
/
._I_

E0tel| = (069 4
|||||||||||||||| 1zt Se i
|||||||||||||||| = =

£Eig] p= m— — E

6E'LEL ES S LEL 0946 =
|||||||||||||||| TN

||||||||||||||||| KIERY

t9tEl|eg | €526 077t

16'LE] [7¥17 0707

20'8¢l \ 16 £€] W't

~
E
|||||||||||||||||| f— — h
98¢l e
WeE| e .
|||||||||||||||||| L 1S N\ 19'58
RS £
|||||||||||||||||| (T3, 7

658El 7788l 7,95

888¢l \ 648€1 18l

AT 71 6El S5

E
o
o
01
=
a
istniejacy przepust
€14l 6E6E1 0E™4
b g P
| 2| g | ¥




